CITY OF MESQUITE BID TABULATION

	Paving Improvements for Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				Estrada Concre	Estrada Concrete Company, LLC		KIK Underground, LLC		B & B Concrete & Sawing, Inc.	
Item Number	Description	Qty	Unit	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended	
1	MOBILIZATION	1	LS	65,000.00	65,000.00	35,000.00	35,000.00	35,000.00	35,000.00	
2	TRAFFIC CONTROL IMPLEMENTATION AND MAINTENANCE	1	LS	15,000.00	15,000.00	25,000.00	25,000.00	4,500.00	4,500.00	
3	REMOVE TREE, COMPLETE IN PLACE	2	EA	1,000.00	2,000.00	1,625.00	3,250.00	1,200.00	2,400.00	
4	REMOVE AND REPLACE 4" THICK, 4,000 PSI REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	2992	SY	60.00	179,520.00	58.00	173,536.00	68.00	203,456.00	
5	REMOVE AND REPLACE 6" THICK, 4,000 PSI REINFORCED CONCRETE DRIVEWAY PAVEMENT, COMPLETE IN PLACE	50	SY	100.00	5.000.00	70.00	3.500.00	70.00	3,500.00	
	REMOVE AND REPLACE 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT, ALLEY, COMPLETE IN PLACE	202	SY	75.00	15,150.00	79.00	15.958.00	74.00	14.948.00	
	REMOVE AND REPLACE 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT, STREET, COMPLETE IN PLACE	4494	SY	78.00	350,532.00	79.00	355,026.00	72.00	323,568.00	
	REMOVE AND REPLACE 18" WIDE, 4,000 PSI REINFORCED CONCRETE CURB AND GUTTER, COMPLETE IN	100	LF	30.00	3.000.00	41.30	4.130.00	35.00	3.500.00	
	PLACE INSTALLATION OF 6" THICK, 4,000 PSI REINFORCED CONCRETE MONOLITHIC CURB, COMPLETE IN				.,		,		.,	
9	PLACE CONSTRUCT ADA RAMP, INCLUDING LIMITS OF PAY ITEM AS SHOWN ON DETAILS AND INCLUDING REMOVAL AND DISPOSAL OF EXISTING	2572	LF	3.00	7,716.00	4.30	11,059.60	8.00	20,576.00	
10	PAVEMENT (ALL TYPES)	15	EA	2,200.00	33,000.00	1,700.00	25,500.00	2,000.00	30,000.00	

	Paving Improvements for Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				Estrada Concret	te Company, LLC	KIK Under	ground, LLC	B & B Concret	e & Sawing, Inc.
Item Number	Description	Qty	Unit	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
	REMOVE AND REPLACE CONCRETE STEPS, RETAINING WALLS (2-FEET HIGH OR SHORTER), AND		-						
11	MISCELLANEOUS STRUCTURES FURNISH AND INSTALL FLEXIBLE BASE, TXDOT ITEM 247, GRADE 1, TYPE D CRUSHED RECYCLED CONCRETE, INCLUDING	10	CY	100.00	1,000.00	375.00	3,750.00	600.00	6,000.0
12	EXCAVATION AND COMPACTION	200	TON	20.00	4,000.00	32.50	6,500.00	35.00	7,000.0
13	INSTALLATION OF BLOCK SOD TO MATCH EXISTING TURF	3013	SY	10.00	30,130.00	8.00	24,104.00	10.00	30,130.0
14	ADDITIONAL SANDY LOAM BACKFILL TO RAISE PARKWAY TO GRADE	200	TON	30.00	6,000.00	20.00	4,000.00	25.00	5,000.0
15	ADJUST WATER VALVE STACK, COMPLETE IN PLACE	5	EA	150.00	750.00	175.00	875.00	150.00	750.0
16	ADJUST WATER METER BOX, COMPLETE IN PLACE	50	EA	30.00	1,500.00	75.00	3,750.00	75.00	3,750.0
17	ADJUST MANHOLE AND INSTALLATION OF CONCRETE APRON, COMPLETE IN PLACE	2	EA	1,000.00	2,000.00	900.00	1,800.00	1,000.00	2,000.0
18	IRRIGATION AND WATER SERVICE REPAIR ALLOWANCE	1	LS	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.0
19	SWPPP PREPARATION AND IMPLEMENTATION	1	LS	10,000.00	10,000.00	8,500.00	8,500.00	10,000.00	10,000.0
	REMOVE EXISTING DOUBLE REINFORCED PAVEMENT AND REPLACE WITH 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT,								
20	STREET, COMPLETE IN PLACE	6000	SY	74.00	444,000.00	79.00	474,000.00	85.00	510,000.0
			0741	Recomm	ended Bid		.		* 1 000 070 7
		GROSS T			\$ 1,185,298.00		\$ 1,189,238.60		\$ 1,226,078.0
		NET TOT			\$ 1,185,298.00		\$ 1,189,238.60		\$ 1,226,078.0
		TERMS:		Net 30		Net 30		Net 30	
		DELIVER	Y:	As Stated		As Stated		As Stated	

CITY OF MESQUITE BID TABULATION

	Paving Improvements for
	Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				HQS Const	ruction, LLC	Urban Infraconstruction, LLC		Jeske Construction Company	
Item Number	Description	Qty	Unit	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	MOBILIZATION	1	LS	55,000.00	55,000.00	60,000.00	60,000.00	72,000.00	72,000.00
2	TRAFFIC CONTROL IMPLEMENTATION AND MAINTENANCE	1	LS	10,000.00	10,000.00	17,000.00	17,000.00	18,000.00	18,000.00
3	REMOVE TREE, COMPLETE IN PLACE	2	EA	2,000.00	4,000.00	700.00	1,400.00	700.00	1,400.00
4	REMOVE AND REPLACE 4" THICK, 4,000 PSI REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	2992	SY	75.00	224,400.00	68.00	203,456.00	86.00	257,312.00
5	REMOVE AND REPLACE 6" THICK, 4,000 PSI REINFORCED CONCRETE DRIVEWAY PAVEMENT, COMPLETE IN PLACE	50	SY	90.00	4,500.00	92.00	4,600.00	90.00	4,500.00
	REMOVE AND REPLACE 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT, ALLEY, COMPLETE IN PLACE	202	SY	100.00	20.200.00	97.00	19.594.00	103.00	20.806.00
	REMOVE AND REPLACE 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT, STREET, COMPLETE IN PLACE	4494	SY	85.00	381,990.00	85.00	381,990.00	90.00	404,460.00
	REMOVE AND REPLACE 18" WIDE, 4,000 PSI REINFORCED CONCRETE CURB AND GUTTER, COMPLETE IN PLACE	100	LF	80.00	8.000.00	45.00	4,500.00	36.00	3,600.00
	INSTALLATION OF 6" THICK, 4,000 PSI REINFORCED CONCRETE MONOLITHIC CURB, COMPLETE IN PLACE	2572	LF	5.00	12,860.00	6.00	15,432.00	5.00	12,860.00
3	CONSTRUCT ADA RAMP, INCLUDING LIMITS OF PAY ITEM AS SHOWN ON DETAILS AND INCLUDING REMOVAL AND DISPOSAL OF EXISTING	2012		5.00	12,000.00	0.00	13,432.00	5.00	12,000.00
10	PAVEMENT (ALL TYPES)	15	EA	2,250.00	33,750.00	2,000.00	30,000.00	2,900.00	43,500.00

	Paving Improvements for Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				HQS Cons	truction, LLC	Urban Infraco	onstruction, LLC	Jeske Constru	ction Company
Item Number	Number Description Qty Unit		Unit Price Extended		Unit Price Extended		Unit Price Extended		
	REMOVE AND REPLACE CONCRETE STEPS, RETAINING WALLS (2-FEET HIGH OR SHORTER), AND			-					
11	MISCELLANEOUS STRUCTURES	10	CY	500.00	5,000.00	1,000.00	10,000.00	550.00	5,500.00
	FURNISH AND INSTALL FLEXIBLE BASE, TXDOT ITEM 247, GRADE 1, TYPE D CRUSHED RECYCLED CONCRETE, INCLUDING								
12	EXCAVATION AND COMPACTION	200	TON	22.00	4,400.00	63.00	12,600.00	26.00	5,200.0
13	INSTALLATION OF BLOCK SOD TO MATCH EXISTING TURF	3013	SY	9.00	27,117.00	9.00	27,117.00	9.00	27,117.0
14	ADDITIONAL SANDY LOAM BACKFILL TO RAISE PARKWAY TO GRADE	200	TON	45.00	9,000.00	28.00	5,600.00	22.00	4,400.00
15	ADJUST WATER VALVE STACK, COMPLETE IN PLACE	5	EA	350.00	1,750.00	500.00	2,500.00	600.00	3,000.0
16	ADJUST WATER METER BOX, COMPLETE IN PLACE	50	EA	350.00	17,500.00	240.00	12,000.00	150.00	7,500.00
17	ADJUST MANHOLE AND INSTALLATION OF CONCRETE APRON, COMPLETE IN PLACE	2	EA	1,500.00	3,000.00	950.00	1,900.00	900.00	1,800.00
18	IRRIGATION AND WATER SERVICE REPAIR ALLOWANCE	1	LS	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.0
19	SWPPP PREPARATION AND IMPLEMENTATION	1	LS	2,000.00	2,000.00	15,000.00	15,000.00	5,000.00	5,000.0
	REMOVE EXISTING DOUBLE REINFORCED PAVEMENT AND REPLACE WITH 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT,								
20	STREET, COMPLETE IN PLACE	6000	SY	87.00	522,000.00	90.00	540,000.00	94.00	564,000.00
	1	GROSS T			\$ 1,356,467.00		\$ 1,374,689.00		\$ 1,471,955.00
		LESS DIS			\$ 1,356,467.00		\$ 1,374,689.00		\$ 1,471,955.0
		TERMS:		Net 30		Net 30		Net 30	
		DELIVER'	Y:	As Stated		As Stated		As Stated	

CITY OF MESQUITE BID TABULATION

	Paving Improvements for Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				XIT Paving & 0	XIT Paving & Construction Inc.		acting, Inc.	Tiseo Pa	iving Co.
Item Number	Description	Qty	Unit	UNIT	Extended	Unit Price	Extended	Unit Price	Extended
1	MOBILIZATION	1	LS	90,000.00	90,000.00	81,336.00	81,336.00	79,700.00	79,700.00
2	TRAFFIC CONTROL IMPLEMENTATION AND MAINTENANCE	1	LS	30,000.00	30,000.00	9,500.00	9,500.00	76,600.00	76,600.00
3	REMOVE TREE, COMPLETE IN PLACE	2	EA	1,100.00	2,200.00	1,750.00	3,500.00	600.00	1,200.00
4	REMOVE AND REPLACE 4" THICK, 4,000 PSI REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	2992	SY	78.00	233,376.00	77.00	230,384.00	68.50	204,952.00
5	REMOVE AND REPLACE 6" THICK, 4,000 PSI REINFORCED CONCRETE DRIVEWAY PAVEMENT, COMPLETE IN PLACE	50	SY	85.00	4,250.00	106.00	5,300.00	75.00	3,750.00
	REMOVE AND REPLACE 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT, ALLEY, COMPLETE IN PLACE	202	SY	95.00	19.190.00	113.00	22.826.00	85.00	17,170.00
	REMOVE AND REPLACE 8" THICK, 4,000 PSI REINFORCED CONCRETE PAVEMENT, STREET, COMPLETE IN PLACE	4494	SY	95.00	426,930.00	107.00	480,858.00	94.00	422,436.00
	REMOVE AND REPLACE 18" WIDE, 4,000 PSI REINFORCED CONCRETE CURB AND GUTTER, COMPLETE IN PLACE	100	LF	45.00	4.500.00	43.00	4,300.00	75.00	7,500.00
	INSTALLATION OF 6" THICK, 4,000 PSI REINFORCED CONCRETE MONOLITHIC CURB, COMPLETE IN				,				
9	PLACE CONSTRUCT ADA RAMP, INCLUDING LIMITS OF PAY ITEM AS SHOWN ON DETAILS AND INCLUDING REMOVAL AND DISPOSAL OF EXISTING	2572	LF	4.00	10,288.00	7.00	18,004.00	4.00	10,288.00
10	PAVEMENT (ALL TYPES)	15	EA	2,000.00	30,000.00	1,500.00	22,500.00	2,400.00	36,000.00

	Paving Improvements for Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				XIT Paving & (Construction Inc.	Axis Cont	racting, Inc.	Tiseo Pa	aving Co.
Item Number	Description	Qty	Unit	UNIT	Extended	Unit Price	Extended	Unit Price	Extended
	REMOVE AND REPLACE CONCRETE								
	STEPS, RETAINING WALLS (2-FEET								
	HIGH OR SHORTER), AND	10	CY	000.00	0 000 00	4.075.00	40 750 00	4 500 00	45 000 00
11	MISCELLANEOUS STRUCTURES	10	CY	600.00	6,000.00	1,075.00	10,750.00	1,500.00	15,000.00
	FURNISH AND INSTALL FLEXIBLE								
	BASE, TXDOT ITEM 247, GRADE 1,								
	TYPE D CRUSHED RECYCLED								
10	CONCRETE, INCLUDING	200	TON	05.00	F 000 00	05.00	42,000,00	75.00	45 000 00
12	EXCAVATION AND COMPACTION	200	TON	25.00	5,000.00	65.00	13,000.00	75.00	15,000.00
10	INSTALLATION OF BLOCK SOD TO	0040	0)/	0.00	04 404 00	0.00	07 4 4 7 00	0.50	00 000 5
13	MATCH EXISTING TURF	3013	SY	8.00	24,104.00	9.00	27,117.00	9.50	28,623.50
	ADDITIONAL SANDY LOAM BACKFILL TO RAISE PARKWAY TO GRADE		TON	20.00	4 000 00	70.00	45 000 00	00.00	40,000,00
14		200	TON	20.00	4,000.00	76.00	15,200.00	80.00	16,000.0
45	ADJUST WATER VALVE STACK,	5	EA	100.00	500.00	400.00	0 000 00	450.00	750.00
15	COMPLETE IN PLACE ADJUST WATER METER BOX,	5	EA	100.00	500.00	400.00	2,000.00	150.00	750.00
10		50		100.00	F 000 00	500.00	25 000 00	450.00	7 500 00
10	COMPLETE IN PLACE ADJUST MANHOLE AND	50	EA	100.00	5,000.00	500.00	25,000.00	150.00	7,500.00
	INSTALLATION OF CONCRETE								
17	APRON, COMPLETE IN PLACE	2	EA	500.00	1,000.00	1,500.00	3.000.00	1,000.00	2.000.00
17	IRRIGATION AND WATER SERVICE			300.00	1,000.00	1,000.00	3,000.00	1,000.00	2,000.00
10	REPAIR ALLOWANCE	1	LS	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00
10	SWPPP PREPARATION AND		LO	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00	10,000.00
19	IMPLEMENTATION	1	LS	6.500.00	6.500.00	7,125.00	7,125.00	19.100.00	19.100.00
10		<u> </u>	20	0,000.00	0,000.00	7,120.00	1,120.00	10,100.00	10,100.0
	REMOVE EXISTING DOUBLE								
	REINFORCED PAVEMENT AND								
	REPLACE WITH 8" THICK, 4,000 PSI								
	REINFORCED CONCRETE PAVEMENT,								
20	STREET, COMPLETE IN PLACE	6000	SY	96.00	576,000.00	106.00	636,000.00	112.00	672,000.00
20		0000	51	30.00	570,000.00	100.00	030,000.00	112.00	072,000.00
	1	GROSS T			\$ 1,488,838.00		\$ 1,627,700.00	I	\$ 1,645,569.5
		LESS DIS			φ 1,-100,000.00		φ 1,027,700.00		φ 1,0-0,000.0
		NET TOT			\$ 1,488,838.00		\$ 1,627,700.00		\$ 1,645,569.50
		TERMS:		Net 30	+ .,,	Net 30	+ .,	Net 30	+ .,,,
		DELIVER	Y:	As Stated		As Stated		As Stated	

	Paving Improvements for
	Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				GRod Construction LLC	
Item Number	Description	Qty	Unit	Unit Price	Extended
1	MOBILIZATION	1	LS	30,000.00	30,000.00
	TRAFFIC CONTROL				,
	IMPLEMENTATION AND				
2	MAINTENANCE	1	LS	13,500.00	13,500.00
3	REMOVE TREE, COMPLETE IN PLACE	2	EA	510.00	1,020.00
	REMOVE AND REPLACE 4" THICK,				
	4,000 PSI REINFORCED CONCRETE				
4	SIDEWALK, COMPLETE IN PLACE	2992	SY	98.00	293,216.00
	REMOVE AND REPLACE 6" THICK,				
	4,000 PSI REINFORCED CONCRETE				
	DRIVEWAY PAVEMENT, COMPLETE				
5	IN PLACE	50	SY	112.00	5,600.00
	REMOVE AND REPLACE 8" THICK,				
	4,000 PSI REINFORCED CONCRETE				
-	PAVEMENT, ALLEY, COMPLETE IN		-		
6	PLACE	202	SY	123.00	24,846.00
	REMOVE AND REPLACE 8" THICK,				
	4,000 PSI REINFORCED CONCRETE				
7	PAVEMENT, STREET, COMPLETE IN PLACE	4494	SY	117.00	EDE 709 00
1	REMOVE AND REPLACE 18" WIDE,	4494	51	117.00	525,798.00
	4,000 PSI REINFORCED CONCRETE				
	CURB AND GUTTER, COMPLETE IN				
8	PLACE	100	LF	53.00	5,300.00
	INSTALLATION OF 6" THICK, 4,000			00.00	0,000.000
	PSI REINFORCED CONCRETE				
	MONOLITHIC CURB, COMPLETE IN				
9	PLACE	2572	LF	8.00	20,576.00
	CONSTRUCT ADA RAMP, INCLUDING				
	LIMITS OF PAY ITEM AS SHOWN ON				
	DETAILS AND INCLUDING REMOVAL				
	AND DISPOSAL OF EXISTING				
	PAVEMENT (ALL TYPES)				
10		15	EA	2,200.00	33,000.00

	Paving Improvements for
	Galloway Place Neighborhood
Bid Name:	and Northridge Addition Repairs
Bid Number:	2022-009
Date:	October 14, 2021

				GRod Construction LLC	
Item Number	Description	Qty	Unit	Unit Price	Extended
	REMOVE AND REPLACE CONCRETE				
	STEPS, RETAINING WALLS (2-FEET				
	HIGH OR SHORTER), AND				
11	MISCELLANEOUS STRUCTURES	10	CY	610.00	6,100.00
	FURNISH AND INSTALL FLEXIBLE				
	BASE, TXDOT ITEM 247, GRADE 1,				
	TYPE D CRUSHED RECYCLED				
	CONCRETE, INCLUDING				
12	EXCAVATION AND COMPACTION	200	TON	49.00	9,800.00
	INSTALLATION OF BLOCK SOD TO				
13	MATCH EXISTING TURF	3013	SY	8.00	24,104.00
	ADDITIONAL SANDY LOAM BACKFILL				
14	TO RAISE PARKWAY TO GRADE	200	TON	77.00	15,400.00
	ADJUST WATER VALVE STACK,				
15	COMPLETE IN PLACE	5	EA	600.00	3,000.00
	ADJUST WATER METER BOX,				
16	COMPLETE IN PLACE	50	EA	900.00	45,000.00
	ADJUST MANHOLE AND				
	INSTALLATION OF CONCRETE				
17	APRON, COMPLETE IN PLACE	2	EA	2,000.00	4,000.00
	IRRIGATION AND WATER SERVICE				
18	REPAIR ALLOWANCE	1	LS	10,000.00	10,000.00
	SWPPP PREPARATION AND				
19	IMPLEMENTATION	1	LS	7,600.00	7,600.00
	REMOVE EXISTING DOUBLE				
	REINFORCED PAVEMENT AND				
	REPLACE WITH 8" THICK, 4,000 PSI				
	REINFORCED CONCRETE PAVEMENT,				
	STREET, COMPLETE IN PLACE	0000	C)/	100.00	700.000.00
20		6000	SY	122.00	732,000.00
L	1	GROSS TOTAL: LESS DISCOUNT:		\$ 1,809,860.00	
	NET TOTAL:		\$ 1,809,860.00		
TERMS:		Net 30			
	DELIVERY:			As Stated	